
 

 

System Flow, 1♣ no Interference The (YTM process)   

 

 

 

 

 

  

  

 

  

     

 

   

 

  

 
 

 Wrap Up 

4♥/4♠, (14-16)/ LM 
10 fit 6CM, shutout  

4♥/4♠, (18-19)/ LM 
9 fit 6CM, shutout  

3♥/3♠, (20-21)/ LM 
Fit 10, RKC for the M 
     ------------------- 

3NT, No LM, 17-19 

With no INF and 0-7 

1♦, F1, 0-7, do you have a 6+Cs?  
 
  
 No, Responses YTM Relays 

1NT, 17-19, initiates’ relay  

 
 

 1♣, F1, 17+ any shape, Inc. length M 

O’s Relays 

2♠ 
      2NT   

Hand Types identification (123Bs) 
Pass, 0-5 and not garbage 

2♣, 6+, Stayman for 5/4M  

2♦, Transfers 

2♥, 4441 

2♠, Single Suiter  

Attributes 8 Pts--------B=2S-----S=3S-----N=SS 
2NT, Black Suits /SV in Clubs 

3♣, Red Suits/ SV in Diamonds/Nat 5+cs  

3♦, Hearts + Clubs/ SV in Hearts/Nat 5+cs 

3♥, Spades + Diamonds / SV in Spades/Nat 5+cs 

3♠, Both Minors/Nat 5+cs 
3NT, Both Majors/ 
 

2♥, POC 

Transfers 
Pass to Play Hearts 

2♠, to Play Spades 

3♣, to Play Clubs 

3♦, to Play Diamonds to 
Spades 

 Pass 
 


